1 H H

389 BH

4 & x| g | AFt 4 5 x| M | A/FE
S XHR3 42 31 73 EE 2 0 2
FEA 36 29 65 B1R5g 2 0 2
Y= 32 31 63 VYN 1 0 1
BEE 28 18 46 BE SR 1 0 1
g ACHR 11 19 30 e 2] 1 0 1
BAARK 15 7 22 Z DAt 4 2 6
] 19 1 20 & Et 225 164 389
B3 12 8 20 (ZDfth NER £188)
Y 8 5 13 S RERE
L8 6 4 10 EEE &
JREAE 1 3 4 B AR
2 EH 1 2 3
Mz = 1 2 3
EEE 1 1 2
=33 W 1 1 2




2 H H

330 BH

4 & x| g | AFt 4 5 x| M | A/FE
& KER3 47 43 90 B3y 1 2 3
FEA 23 28 51 Mz = 2 1 3
Y= 31 19 50 EE 2 0 2
BEE 15 17 32 EZE 0 1 1
B3 11 7 18 TERsE 0 1 1
g ACHR 6 10 16 ZF D 2 1 3
] 13 2 15 & Et 180 150, 330
YN 8 2 10 (ZDfh WER &158)
ZRE 5 3 8 BT s HEEERR
JXHEAE 4 2 6 BHKER
B -HR 2 3 5
F5E1R 4 1 5
RETE 1 4 5
BAEARFK 2 1 3
A 1 2 3




